## Format for Advertisement in Website

## Notice for appointment of Regular / Rural Retail Outlet Dealerships

Indian Oil Corporation Ltd proposes to appoint Retail Outlet dealers in Jammu & Kashmir State, as per following details:

| SI.<br>No | Name of location   | Revenue<br>District | Type of RO         | Estimat<br>ed<br>monthly<br>Sales<br>Potenti<br>al # | Category  | Type of<br>Site* | Minimur<br>M.)/Area<br>Sq. M.). | m Dimensi<br>a of the sit<br>* | on (in<br>e (in | Finance<br>arranged<br>applican   | d by the  | Mode of<br>Selection      | Fixed<br>Fee /<br>Minim<br>um Bid<br>amoun<br>t | Securit<br>y<br>Deposit |
|-----------|--|---------------------|--------------------|--|---|------------------|---------------------------------|--------------------------------|-----------------|---|---|---------------------------|---|-------------------------|
| 1         | 2  | 3                   | 4                  | 5  | 6   | 7                |                                 | 8                              |                 | 9a  | 9b  | 10                        | 11  | 12                      |
|           |  |                     | Regular /<br>Rural | MS+HSD<br>in Kls                                     | SC SC CC-1 SC CC-2 SC PH ST ST CC-1 ST CC-2 ST PH OBC OBC CC-1 OBC CC-2 OBC PH OPEN OPEN CC-1 OPEN CC-2 | CC / DC /<br>CFS | Fronta<br>ge                    | Depth                          | Area            | Estima<br>ted<br>workin<br>g<br>capital<br>requir<br>ement<br>for<br>operati<br>on of<br>RO | Estima<br>ted<br>fund<br>requir<br>ed for<br>develo<br>pment<br>of<br>infrast<br>ructur<br>e at<br>RO | Draw of Lots<br>/ Bidding |   |                         |
| 1         | Within 3 Km from Warehouse (Nehru Market) on<br>Warehouse - Satwari Road Via Beli Charana,<br>Jammu City | Jammu               | Regular            | 150  | SC  | CFS              | 20                              | 20                             | 400             | 0   | 0   | Draw of<br>Lots           | 0   | 3                       |
| 2         | Within 5 kms from Narwal Chowk along NH 44<br>towards Nagrota on RHS                                     | Jammu               | Regular            | 150  | SC  | CFS              | 20                              | 20                             | 400             | 0   | 0   | Draw of<br>Lots           | 0   | 3                       |

| 3  | Vill Bafliaz on Rajouri- Surankot Highway   | Poonch       | Regular | 150 | ST           | CFS | 20 | 20 | 400      | 0  | 0  | Draw of<br>Lots | 0  | 3 |
|----|---|--------------|---------|-----|--------------|-----|----|----|----------|----|----|-----------------|----|---|
| 4  | Mendhar Town Within Muncipal Limit  | Poonch       | Regular | 120 | ST           | CFS | 20 | 20 | 400      | 0  | 0  | Draw of<br>Lots | 0  | 3 |
| 5  | Within 5 KM from Sunderbani Police Station towards Akhnoor on NH  | Rajouri      | Regular | 160 | ST           | CFS | 20 | 20 | 400      | 0  | 0  | Draw of<br>Lots | 0  | 3 |
| 6  | Between Rampur and Uri (On Srinagar-Uri<br>Higway)  | Baramulla    | Regular | 155 | SC           | CFS | 20 | 20 | 400      | 0  | 0  | Draw of<br>Lots | 0  | 3 |
| 7  | Within 3 Kms from Handwara Main Chowk<br>Towards Kulangam(WML)  | Kupwara      | Regular | 130 | ST           | CFS | 20 | 20 | 400      | 0  | 0  | Draw of<br>Lots | 0  | 3 |
| 8  | Bemina Degree College Gate to Bemina NH<br>Crossing (bypass)  | Srinagar     | Regular | 230 | ST           | CFS | 20 | 20 | 400      | 0  | 0  | Draw of<br>Lots | 0  | 3 |
| 9  | From Bhimbhat to Police Station Drass on either side of NH  | Kargil       | Regular | 150 | ST           | CFS | 20 | 20 | 400      | 0  | 0  | Draw of<br>Lots | 0  | 3 |
| 10 | Between SNM Hospital to Airport Main gate on<br>Leh Kargil Road   | Leh          | Regular | 150 | ST           | CFS | 20 | 20 | 400      | 0  | 0  | Draw of<br>Lots | 0  | 3 |
| 11 | Within 3 Kms from Govt. Primary Health Centre<br>Wandevalgam Towards Kokernag on Anantnag<br>Kishtawar Road     | Anantnag     | Regular | 150 | SC           | CFS | 35 | 35 | 122<br>5 | 0  | 0  | Draw of<br>Lots | 0  | 3 |
| 12 | Within 2 Kms from Subcentre Health and Family<br>Welfare Keegam Towards Shopian on Pulwama<br>Shopian Road(WML) | Shopian      | Regular | 100 | SC           | CFS | 20 | 20 | 400      | 0  | 0  | Draw of<br>Lots | 0  | 3 |
| 13 | Within radius of 2 km of Jewel Chowk, Jammu<br>City   | Jammu        | Regular | 250 | Open         | CC  | 20 | 20 | 400      | 25 | 10 | Bidding         | 30 | 5 |
| 14 | Between Roopnagar Chowk to Jammu-Akhnoor<br>Highway (Near Directorate of School Education),<br>Jammu            | Jammu        | Regular | 150 | SC           | CFS | 20 | 20 | 400      | 0  | 0  | Draw of<br>Lots | 0  | 3 |
| 15 | Maheshpura Chowk to Canal Road via<br>Bakshinagar, Jammu City   | Jammu        | Regular | 165 | OBC          | CC  | 20 | 20 | 400      | 25 | 10 | Bidding         | 30 | 4 |
| 16 | Between KM Stone 241 to 236 on NH-44 (LHS)<br>from Jammu to Srinagar on Nagrota Bye Pass                        | Jammu        | Regular | 185 | Open         | DC  | 20 | 20 | 400      | 25 | 75 | Draw of<br>Lots | 15 | 5 |
| 17 | Between KM Stone 221 to 215 on NH-44<br>(LHS)from Jammu to Srinagar at Jhajjarkotli                             | Jammu        | Regular | 150 | ST           | CFS | 20 | 20 | 400      | 0  | 0  | Draw of<br>Lots | 0  | 3 |
| 18 | Between KM Stone 233 to 228 on NH-44 (LHS) from Jammu to Srinagar on Nagrota Bye Pass                           | Jammu        | Regular | 150 | Open PH      | DC  | 20 | 20 | 400      | 25 | 75 | Draw of<br>Lots | 15 | 5 |
| 19 | Between KM Stone 208 to 201 on NH-44 (LHS)<br>from Jammu to Srinagar  | UDHAMPU<br>R | Regular | 150 | OBC          | DC  | 20 | 20 | 400      | 25 | 75 | Draw of<br>Lots | 15 | 4 |
| 20 | Between KM Stone 199 to 186 on NH-44 (LHS) from Jammu to Srinagar on Udhampur Bye Pass                          | UDHAMPU<br>R | Regular | 150 | Open         | DC  | 20 | 20 | 400      | 25 | 75 | Draw of<br>Lots | 15 | 5 |
| 21 | Between KM Stone 170 to 163 on NH-44 (RHS)<br>from Jammu to Srinagar  | UDHAMPU<br>R | Regular | 150 | Open         | DC  | 20 | 20 | 400      | 25 | 75 | Draw of<br>Lots | 15 | 5 |
| 22 | Between KM Stone 186 to 190 on NH-44 (RHS) from Jammu to Srinagar on Udhampur Bye Pass                          | Udhampur     | Regular | 150 | Open CC<br>1 | DC  | 20 | 20 | 400      | 25 | 75 | Draw of<br>Lots | 15 | 5 |

| 23 | Between KM Stone 202 to 208 on NH-44 (RHS) from Jammu to Srinagar on Udhampur Bye Pass                                      | Udhampur     | Regular | 150 | OBC      | DC  | 20 | 20 | 400 | 25 | 75 | Draw of<br>Lots | 15 | 4 |
|----|---|--------------|---------|-----|----------|-----|----|----|-----|----|----|-----------------|----|---|
| 24 | Between KM Stone 234 to 240 on NH-44 (RHS)<br>from Jammu to Srinagar on Nagrota Bye Pass                                    | Jammu        | Regular | 150 | SC       | CFS | 20 | 20 | 400 | 0  | 0  | Draw of<br>Lots | 0  | 3 |
| 25 | Between KM Stone 186 to 182 on NH-44 (either<br>side of divided carriageway) from Jammu to<br>Srinagar on Udhampur Bye Pass | Udhampur     | Regular | 150 | Open     | DC  | 20 | 20 | 400 | 25 | 75 | Draw of<br>Lots | 15 | 5 |
| 26 | Between KM Stone 180 to 175 on NH-44 (LHS)<br>from Jammu to Srinagar  | Udhampur     | Regular | 150 | Open     | DC  | 20 | 20 | 400 | 25 | 75 | Draw of<br>Lots | 15 | 5 |
| 27 | Within 3 kms from katra Bus Stand on Katra-<br>Udhampur Rd (via Painthal)WML  | Reasi        | Regular | 100 | OBC      | DC  | 20 | 20 | 400 | 25 | 45 | Draw of<br>Lots | 15 | 4 |
| 28 | Reasi Town (WML)  | Reasi        | Regular | 130 | Open     | DC  | 20 | 20 | 400 | 25 | 45 | Draw of<br>Lots | 15 | 5 |
| 29 | Ramnagar WML  | UDHAMPU<br>R | Regular | 100 | SC       | CFS | 20 | 20 | 400 | 0  | 0  | Draw of<br>Lots | 0  | 3 |
| 30 | Within 3 Kms of Nashri Tunnel Exit on NH-44<br>(LHS) from Jammu to Srinagar   | Ramban       | Regular | 150 | Open     | CC  | 20 | 20 | 400 | 25 | 10 | Bidding         | 30 | 5 |
| 31 | Within 5 KM of Banihal Railway Station (RHS) on<br>NH-44 (Jammu to Srinagar NH)   | Ramban       | Regular | 160 | Open     | DC  | 20 | 20 | 400 | 25 | 75 | Draw of<br>Lots | 15 | 5 |
| 32 | Doda Town(WML)  | Doda         | Regular | 100 | OBC      | DC  | 20 | 20 | 400 | 25 | 45 | Draw of<br>Lots | 15 | 4 |
| 33 | Between KM Stone 75 to 80 on Puldoda - Thathri<br>Road  | Doda         | Regular | 150 | SC       | CFS | 20 | 20 | 400 | 0  | 0  | Draw of<br>Lots | 0  | 3 |
| 34 | Chanderkot on NH-44 (Jammu to Srinagar NH)<br>Either side   | Ramban       | Regular | 150 | OBC      | DC  | 20 | 20 | 400 | 25 | 75 | Draw of<br>Lots | 15 | 4 |
| 35 | Bhaderwah WML on Domail -Bhaderwah to<br>Basohli Road   | Doda         | Regular | 100 | OBC CC 1 | DC  | 20 | 20 | 400 | 25 | 45 | Draw of<br>Lots | 15 | 4 |
| 36 | Paloura Post Office to Tope Sherkhanian Bridge<br>(Via Patoli Mangotrian), Jammu City                                       | Jammu        | Regular | 150 | SC       | CFS | 20 | 20 | 400 | 0  | 0  | Draw of<br>Lots | 0  | 3 |
| 37 | Ambphalla chowk to CPO Jammu, Jammu City  | Jammu        | Regular | 175 | Open     | CC  | 20 | 20 | 400 | 25 | 10 | Bidding         | 30 | 5 |
| 38 | Between KM Stone 60 to 65 on Pul Doda Thathri<br>Road   | Doda         | Regular | 150 | SC       | CFS | 20 | 20 | 400 | 0  | 0  | Draw of<br>Lots | 0  | 3 |
| 39 | Rehari Chungi to Patoli Mode, Jammu City  | Jammu        | Regular | 150 | ST CC 1  | CFS | 20 | 20 | 400 | 0  | 0  | Draw of<br>Lots | 0  | 3 |
| 40 | Within 3 Kms from Kishtwar Town on Kishtwar-<br>Srinagar NH   | Kishtwar     | Regular | 150 | SC       | CFS | 20 | 20 | 400 | 0  | 0  | Draw of<br>Lots | 0  | 3 |
| 41 | Katra Town (WML)  | Reasi        | Regular | 100 | Open     | DC  | 20 | 20 | 400 | 25 | 45 | Draw of<br>Lots | 15 | 5 |
| 42 | Within 2 Kms from Nomain Police Check Post<br>Towards Katra on NH   | Reasi        | Regular | 150 | OBC CC 1 | DC  | 20 | 20 | 400 | 25 | 75 | Draw of<br>Lots | 15 | 4 |
| 43 | Udhampur Town (WML)   | Udhampur     | Regular | 120 | OBC      | DC  | 20 | 20 | 400 | 25 | 45 | Draw of<br>Lots | 15 | 4 |

| 44 | Between SBI Janipur to Muthi Morh (on Amphala<br>Bantalab Road), Jammu City   | Jammu    | Regular | 200 | Open         | CC  | 20 | 20 | 400      | 25 | 10 | Bidding         | 30 | 5 |
|----|---|----------|---------|-----|--------------|-----|----|----|----------|----|----|-----------------|----|---|
| 45 | Within 4 KMs from Kishtwar bus Stand on Doda<br>Kishtwar NH   | Kishtwar | Regular | 150 | Open         | DC  | 20 | 20 | 400      | 25 | 75 | Draw of<br>Lots | 15 | 5 |
| 46 | Banihal Town ON NH-44 (Jammu to Srinagar)<br>Either side  | Ramban   | Regular | 150 | OBC          | DC  | 20 | 20 | 400      | 25 | 75 | Draw of<br>Lots | 15 | 4 |
| 47 | Between KM Stone 236 to 233 on NH-44 (LHS) from Jammu to Srinagar on Nagrota Bye Pass                                   | Jammu    | Regular | 150 | Open         | DC  | 20 | 20 | 400      | 25 | 75 | Draw of<br>Lots | 15 | 5 |
| 48 | Within 2 Kms OML of Ramban town on Jammu-<br>Srinagar NH towards Srinagar   | Ramban   | Regular | 150 | ST           | CFS | 20 | 20 | 400      | 0  | 0  | Draw of<br>Lots | 0  | 3 |
| 49 | Between milestone no. 17 and 19 along NH 44 on<br>LHS while going from Lakhanpur to Jammu<br>(Landmark: Lakhanpur toll) | Kathua   | Regular | 300 | Open         | CC  | 35 | 45 | 157<br>5 | 25 | 10 | Bidding         | 30 | 5 |
| 50 | Between milestone no. 19 and 23 along NH 44 on<br>LHS while going from Lakhanpur to Jammu (WML<br>of Kathua)            | Kathua   | Regular | 160 | Open         | DC  | 20 | 20 | 400      | 25 | 75 | Draw of<br>Lots | 15 | 5 |
| 51 | Between milestone no. 27 and 33 on NH 44 on LHS while going from jammu to Lakhanpur                                     | Kathua   | Regular | 160 | Open         | DC  | 35 | 45 | 157<br>5 | 25 | 75 | Draw of<br>Lots | 15 | 5 |
| 52 | Between milestone no. 35 and 41 on LHS of NH<br>44 while going from Lakhanpur to Jammu                                  | Kathua   | Regular | 160 | Open         | DC  | 35 | 45 | 157<br>5 | 25 | 75 | Draw of<br>Lots | 15 | 5 |
| 53 | Between milestone no. 41 and 48 on LHS of NH<br>44 while going from Lakhanpur to Jammu                                  | Kathua   | Regular | 160 | OPEN CC<br>2 | DC  | 35 | 45 | 157<br>5 | 25 | 75 | Draw of<br>Lots | 15 | 5 |
| 54 | Between milestone no. 48 and 54 on either side of NH 44   | Kathua   | Regular | 155 | OBC          | DC  | 35 | 45 | 157<br>5 | 25 | 75 | Draw of<br>Lots | 15 | 4 |
| 55 | Between milestone no. 54 and 60 on LHS of NH<br>44 while going from Jammu to Lakhanpur                                  | Samba    | Regular | 155 | Open         | DC  | 35 | 45 | 157<br>5 | 25 | 75 | Draw of<br>Lots | 15 | 5 |
| 56 | Between milestone no. 60 and 68 on LHS of NH<br>44 while going from Jammu to Lakhanpur                                  | Samba    | Regular | 155 | OBC CC 1     | DC  | 35 | 45 | 157<br>5 | 25 | 75 | Draw of<br>Lots | 15 | 4 |
| 57 | Between milestone no. 60 and 68 on RHS of NH<br>44 while going from Jammu to Lakhanpur                                  | Samba    | Regular | 155 | OBC          | DC  | 35 | 45 | 157<br>5 | 25 | 75 | Draw of<br>Lots | 15 | 4 |
| 58 | Between Milestone no. 68 and 75 along NH44 on<br>either side of the road, (Landmark: Chichi Mata<br>Temple)             | Samba    | Regular | 155 | Open         | DC  | 35 | 45 | 157<br>5 | 25 | 75 | Draw of<br>Lots | 15 | 5 |
| 59 | Between milestone no. 75 and 80 along NH 44 either side of road   | Samba    | Regular | 195 | OBC          | DC  | 35 | 45 | 157<br>5 | 25 | 75 | Draw of<br>Lots | 15 | 4 |
| 60 | Between Milestone no. 80 and 86 along NH 44 on RHS while going from Jammu to Lakhanpur                                  | Samba    | Regular | 200 | Open         | CC  | 35 | 45 | 157<br>5 | 25 | 10 | Bidding         | 30 | 5 |
| 61 | Between Milestone no. 80 and 86 along NH 44 on LHS while going from Jammu to Lakhanpur                                  | Samba    | Regular | 155 | OBC          | DC  | 35 | 45 | 157<br>5 | 25 | 75 | Draw of<br>Lots | 15 | 4 |
| 62 | Between Milestone no. 86 and 90 along NH 44 on either side of road  | Samba    | Regular | 200 | Open         | DC  | 35 | 45 | 157<br>5 | 25 | 75 | Draw of<br>Lots | 15 | 5 |
| 63 | Between Milestone no. 90 and 94 along NH 44 on either side of road (excluding road beside Bari                          | Samba    | Regular | 155 | SC           | CFS | 35 | 45 | 157<br>5 | 0  | 0  | Draw of<br>Lots | 0  | 3 |

|    | Brahmana flyover)  |        |         |     |              |     |    |    |          |    |    |                 |    |   |
|----|--|--------|---------|-----|--------------|-----|----|----|----------|----|----|-----------------|----|---|
| 64 | From Nissan Showroom on NH 44 (near sainik colony) to Rajpur Kollar along Chowadhi road                      | Jammu  | Regular | 150 | SC           | CFS | 20 | 20 | 400      | 0  | 0  | Draw of<br>Lots | 0  | 3 |
| 65 | Within 7 kms from Narwal Chowk towards Kathua<br>on LHS on NH 44   | Jammu  | Regular | 165 | Open         | DC  | 20 | 20 | 400      | 25 | 75 | Draw of<br>Lots | 15 | 5 |
| 66 | In between road connecting Balidan Stambh and NH 44 either side  | Jammu  | Regular | 150 | OBC          | DC  | 20 | 20 | 400      | 25 | 60 | Draw of<br>Lots | 15 | 4 |
| 67 | Within 2 kms from Kunjwani Chowk towards<br>Kathua along NH 44 on LHS while going from<br>Kunjwani to Kathua | Jammu  | Regular | 165 | OPEN CC<br>2 | DC  | 35 | 45 | 157<br>5 | 25 | 75 | Draw of<br>Lots | 15 | 5 |
| 68 | Within 2 kms from Kunjwani Chowk towards<br>Kathua along NH 44 on RHS while going from<br>Kunjwani to Kathua | Jammu  | Regular | 165 | OBC          | DC  | 35 | 45 | 157<br>5 | 25 | 75 | Draw of<br>Lots | 15 | 4 |
| 69 | Within 1.5 kms from Lajwanti Women Hospital towards Trikutanagar along marble market road                    | Jammu  | Regular | 220 | Open         | CC  | 20 | 20 | 400      | 25 | 10 | Bidding         | 30 | 5 |
| 70 | Within 4 kms from Hiranagar morh towards<br>Hiranagar tehsil/town WML  | Kathua | Regular | 105 | Open         | DC  | 20 | 20 | 400      | 25 | 45 | Draw of<br>Lots | 15 | 5 |
| 71 | Bhatindi   | Jammu  | Regular | 155 | ST           | CFS | 20 | 20 | 400      | 0  | 0  | Draw of<br>Lots | 0  | 3 |
| 72 | Within 5 kms from Narwal Chowk along NH 44<br>towards Nagrota on LHS   | Jammu  | Regular | 200 | Open         | CC  | 20 | 20 | 400      | 25 | 10 | Bidding         | 30 | 5 |
| 73 | 2 kms from Zero Morh chowk towards Bani along<br>Basohli-Bani Road (WML)                                     | Kathua | Regular | 100 | SC           | CFS | 20 | 20 | 400      | 0  | 0  | Draw of<br>Lots | 0  | 3 |
| 74 | 1.5 kMs from Samba chowk towards Samba<br>Railway station Along Railway Road (WML)                           | Samba  | Regular | 105 | OBC          | DC  | 20 | 20 | 400      | 25 | 45 | Draw of<br>Lots | 15 | 4 |
| 75 | 2.5 Kms from Shaheedi Chowk at Kathua Towards<br>Kalibari Morh on College Road (WML)                         | Kathua | Regular | 190 | OBC          | CC  | 20 | 20 | 400      | 25 | 10 | Bidding         | 30 | 4 |
| 76 | Between Bari Brahmana chowk & St. Joseph hospital along main industrial road (WML)                           | Samba  | Regular | 105 | Open         | DC  | 20 | 20 | 400      | 25 | 45 | Draw of<br>Lots | 15 | 5 |
| 77 | Within 7 kms from Narwal Chowk towards Kathua<br>on RHS on NH 44   | Jammu  | Regular | 165 | Open         | DC  | 20 | 20 | 400      | 25 | 75 | Draw of<br>Lots | 15 | 5 |
| 78 | Between milestone no. 27 and 33 on NH 44 on RHS while going from jammu to Lakhanpur                          | Kathua | Regular | 160 | OBC          | DC  | 35 | 45 | 157<br>5 | 25 | 75 | Draw of<br>Lots | 15 | 4 |
| 79 | From Kunjwani Chowk to Satwari Chowk on<br>Kujwani to Satwari Main Road on LHS                               | Jammu  | Regular | 150 | Open         | DC  | 20 | 20 | 400      | 25 | 60 | Draw of<br>Lots | 15 | 5 |
| 80 | From Kunjwani Chowk to Satwari Chowk on<br>Kujwani to Satwari Main Road on RHS                               | Jammu  | Regular | 150 | OBC          | DC  | 20 | 20 | 400      | 25 | 60 | Draw of<br>Lots | 15 | 4 |
| 81 | From Police Martyrs Memorial Chowk (Railway<br>Station Jammu) To Channi Puliya                               | Jammu  | Regular | 180 | Open         | CC  | 20 | 20 | 400      | 25 | 10 | Bidding         | 30 | 5 |
| 82 | Within 1 Km on either side of KV No. 2, Akhnoor<br>On Akhnoor - Tanda Road (NH 144A)                         | Jammu  | Regular | 180 | Open         | DC  | 35 | 35 | 122<br>5 | 25 | 75 | Draw of<br>Lots | 15 | 5 |
| 83 | On Galwaday chak on proposed NH by pass Ring   | Jammu  | Regular | 150 | SC           | CFS | 35 | 45 | 157      | 0  | 0  | Draw of         | 0  | 3 |

|     | road in between village Karloop to Halka Marh on<br>LHS   |       |         |     |         |     |    |    | 5        |    |    | Lots            |    |   |
|-----|---|-------|---------|-----|---------|-----|----|----|----------|----|----|-----------------|----|---|
| 84  | Vill Gurha Pattan on Highway  | Jammu | Regular | 150 | OBC PH  | DC  | 35 | 35 | 122<br>5 | 25 | 75 | Draw of<br>Lots | 15 | 4 |
| 85  | In Kotli Mian Fateh on proposed NH by pass Ring road on either side   | Jammu | Regular | 150 | SC      | CFS | 35 | 45 | 157<br>5 | 0  | 0  | Draw of<br>Lots | 0  | 3 |
| 86  | In Sohanjana on proposed NH by pass Ring road on either side  | Jammu | Regular | 150 | OBC     | DC  | 35 | 45 | 157<br>5 | 25 | 75 | Draw of<br>Lots | 15 | 4 |
| 87  | In Ghou Manhasan on proposed NH by pass Ring road on either side  | Jammu | Regular | 150 | OBC     | DC  | 35 | 45 | 157<br>5 | 25 | 75 | Draw of<br>Lots | 15 | 4 |
| 88  | In Marh on proposed NH by pass Ring road on either side   | Jammu | Regular | 150 | OBC     | DC  | 35 | 45 | 157<br>5 | 25 | 75 | Draw of<br>Lots | 15 | 4 |
| 89  | Between Km Stone No 102 & 105 on NH 144A in between Siot and Nowshera   | Jammu | Regular | 150 | Open    | DC  | 35 | 35 | 122<br>5 | 25 | 75 | Draw of<br>Lots | 15 | 5 |
| 90  | From Railway crossing to Channi Himmat Park via<br>Sector 7 road, Jammu City  | Jammu | Regular | 150 | Open    | DC  | 20 | 20 | 400      | 25 | 60 | Draw of<br>Lots | 15 | 5 |
| 91  | Channi Himmat central road from SBI bank to NH<br>44 via Mint Leaf Restaurant, Jammu City                               | Jammu | Regular | 160 | Open    | DC  | 20 | 20 | 400      | 25 | 60 | Draw of<br>Lots | 15 | 5 |
| 92  | From Channi Himmat Rail under pass to Nh44 via<br>Sulabh Shochalaya, Jammu city   | Jammu | Regular | 150 | Open    | DC  | 20 | 20 | 400      | 25 | 60 | Draw of<br>Lots | 15 | 5 |
| 93  | From Surya Chowk (Sec-3, Channi Himmat) to Police Line Chowk Channi Himmat, Jammu City                                  | Jammu | Regular | 150 | Open    | DC  | 20 | 20 | 400      | 25 | 60 | Draw of<br>Lots | 15 | 5 |
| 94  | From Entrance of SICOP Industrial Estate Gangyal via Gangyal Police station till J&K Bank ATM on Preet Nagar Main Road, | Jammu | Regular | 150 | OBC     | DC  | 20 | 20 | 400      | 25 | 60 | Draw of<br>Lots | 15 | 4 |
| 95  | Akhnoor to Jourian road WML of Akhnoor  | Jammu | Regular | 100 | Open    | DC  | 20 | 20 | 400      | 25 | 45 | Draw of<br>Lots | 15 | 5 |
| 96  | On RS PURA -Suchetgarh Road ( Within 2 KM from RS PURA Bus stand)(WML)  | Jammu | Regular | 100 | OBC     | DC  | 20 | 20 | 400      | 25 | 45 | Draw of<br>Lots | 15 | 4 |
| 97  | On RS PURA -Dablehar Road ( Within 2 KM from RS PURA Bus stand)(WML)  | Jammu | Regular | 100 | SC CC 1 | CFS | 20 | 20 | 400      | 0  | 0  | Draw of<br>Lots | 0  | 3 |
| 98  | Thana Mandi Within Municipal Limit  | Jammu | Regular | 110 | OBC     | DC  | 20 | 20 | 400      | 25 | 45 | Draw of<br>Lots | 15 | 4 |
| 99  | Akhnoor WML on Akhnoor to Kaleeth road  | Jammu | Regular | 120 | Open    | DC  | 20 | 20 | 400      | 25 | 45 | Draw of<br>Lots | 15 | 5 |
| 100 | Akhnoor Byepass (Within 2 KM from Dumi<br>chowk)  | Jammu | Regular | 150 | Open    | DC  | 35 | 35 | 122<br>5 | 25 | 75 | Draw of<br>Lots | 15 | 5 |
| 101 | Gole Gujral (on Camp road from Vishal Nagar to<br>Mishriwala)(WML)  | Jammu | Regular | 160 | Open    | DC  | 20 | 20 | 400      | 25 | 45 | Draw of<br>Lots | 15 | 5 |
| 102 | From Mishriwala chowk to bawa talab<br>Chowk(Gurha Singhu) on Jammu Akhnoor<br>Highway                                  | Jammu | Regular | 160 | OBC     | DC  | 35 | 45 | 157<br>5 | 25 | 75 | Draw of<br>Lots | 15 | 4 |

| 103 | Gho Manhasa WML  | Jammu     | Regular | 110 | Open CC<br>1 | DC  | 20 | 20 | 400      | 25 | 45 | Draw of<br>Lots | 15 | 5 |
|-----|--|-----------|---------|-----|--------------|-----|----|----|----------|----|----|-----------------|----|---|
| 104 | Talab tillo road from Canal Head to intersection of Patta Bohri road and Anand Nagar Road. Jammu city              | Jammu     | Regular | 150 | Open         | DC  | 20 | 20 | 400      | 25 | 60 | Draw of<br>Lots | 15 | 5 |
| 105 | Trikuta nagar Central Road from State Bank of<br>India Rail head complex to Dreamland<br>Apartments Via Sai palace | Jammu     | Regular | 150 | Open         | DC  | 20 | 20 | 400      | 25 | 60 | Draw of<br>Lots | 15 | 5 |
| 106 | Kalakote Within Municipal Limit  | Rajouri   | Regular | 110 | OBC          | DC  | 20 | 20 | 400      | 25 | 45 | Draw of<br>Lots | 15 | 4 |
| 107 | Rajouri Town (within Municipal Limits) Rajouri   | Rajouri   | Regular | 100 | ST           | CFS | 20 | 20 | 400      | 0  | 0  | Draw of<br>Lots | 0  | 3 |
| 108 | Within 5 Km from new bus stand Rajouri towards<br>Jammu on Rajouri -Jammu Highway                                  | Rajouri   | Regular | 150 | ST           | CFS | 20 | 20 | 400      | 0  | 0  | Draw of<br>Lots | 0  | 3 |
| 109 | Within 5 Km from new bus stand Rajouri towards<br>Poonch on Rajouri -Poonch Highway                                | Rajouri   | Regular | 180 | ST           | CFS | 20 | 20 | 400      | 0  | 0  | Draw of<br>Lots | 0  | 3 |
| 110 | Bhimber gali (WML) on Bhimber Gali- Rajouri<br>highway   | Rajouri   | Regular | 110 | OBC          | DC  | 20 | 20 | 400      | 25 | 45 | Draw of<br>Lots | 15 | 4 |
| 111 | Within 3 km from Chingus on either side of<br>Poonch Rajouri Highway   | Rajouri   | Regular | 150 | OBC          | DC  | 20 | 20 | 400      | 25 | 75 | Draw of<br>Lots | 15 | 4 |
| 112 | Naushera town Within Municipal Limit   | Rajouri   | Regular | 115 | OBC          | DC  | 20 | 20 | 400      | 25 | 45 | Draw of<br>Lots | 15 | 4 |
| 113 | Within 2 km from Bari Brahmana main chowk on<br>Bari Brahmana Bishnah Road(WML)                                    | Jammu     | Regular | 110 | ST CC 1      | CFS | 20 | 20 | 400      | 0  | 0  | Draw of<br>Lots | 0  | 3 |
| 114 | Samote, WML  | Poonch    | Regular | 100 | ST           | CFS | 20 | 20 | 400      | 0  | 0  | Draw of<br>Lots | 0  | 3 |
| 115 | Thandapani on Sunderbani - Siot Road   | Rajouri   | Regular | 150 | Open         | DC  | 20 | 20 | 400      | 25 | 75 | Draw of<br>Lots | 15 | 5 |
| 116 | Kallar on Rajouri - Nowshera on National Highway   | Rajouri   | Regular | 150 | ST           | CFS | 20 | 20 | 400      | 0  | 0  | Draw of<br>Lots | 0  | 3 |
| 117 | Kalani on Surankote- Poonch Highway  | Poonch    | Regular | 150 | OBC          | DC  | 20 | 20 | 400      | 25 | 75 | Draw of<br>Lots | 15 | 4 |
| 118 | Najwal (Bishnah) on proposed NH  | Jammu     | Regular | 150 | Open         | CC  | 35 | 45 | 157<br>5 | 25 | 10 | Bidding         | 30 | 5 |
| 119 | Chak Troo on Surankot - Poonch Highway   | Poonch    | Regular | 150 | ST           | CFS | 20 | 20 | 400      | 0  | 0  | Draw of<br>Lots | 0  | 3 |
| 120 | Within municipal Limit of Wattergam (On<br>Wattergam- Sello Road)  | Baramulla | Regular | 150 | OBC          | DC  | 20 | 20 | 400      | 25 | 45 | Draw of<br>Lots | 15 | 4 |
| 121 | Within 1 Km of Industrial Estate<br>Sopore(Amargarh) on Sopore Kupwara<br>Road(WML)                                | Baramulla | Regular | 150 | Open         | DC  | 20 | 20 | 400      | 25 | 45 | Draw of<br>Lots | 15 | 5 |
| 122 | Between Batwara to Dal gate on Batwara lal<br>chowk Road   | Srinagar  | Regular | 175 | Open         | DC  | 20 | 20 | 400      | 25 | 60 | Draw of<br>Lots | 15 | 5 |

| 123 | Between Tikker to Battergam on Kupwara<br>kralpora Road   | Kupwara   | Regular | 150 | Open         | DC  | 20 | 20 | 400      | 25 | 75 | Draw of<br>Lots | 15 | 5 |
|-----|---|-----------|---------|-----|--------------|-----|----|----|----------|----|----|-----------------|----|---|
| 124 | Between Shaltang to Narbal Crossing (LHS while going from Srinagar to Baramulla) on NH                | Srinagar  | Regular | 170 | SC           | CFS | 35 | 45 | 157<br>5 | 0  | 0  | Draw of<br>Lots | 0  | 3 |
| 125 | Sempora between Airtel warehouse and masjid<br>Bilal, Zaffron Colony, Srinagar                        | Srinagar  | Regular | 150 | Open         | DC  | 20 | 20 | 400      | 25 | 60 | Draw of<br>Lots | 15 | 5 |
| 126 | Within 2 kms of Fruit mandi zazna towards<br>sumbal on sumbal ganderbal Road                          | Ganderbal | Regular | 150 | Open         | DC  | 35 | 35 | 122<br>5 | 25 | 75 | Draw of<br>Lots | 15 | 5 |
| 127 | Between Gund and Gagangir(On Srinagar Kargil<br>NH)   | Ganderbal | Regular | 150 | OBC          | DC  | 20 | 20 | 400      | 25 | 75 | Draw of<br>Lots | 15 | 4 |
| 128 | Within 2 KM from Sonamarg ( tourist point) on NH  | Ganderbal | Regular | 150 | ST           | CFS | 20 | 20 | 400      | 0  | 0  | Draw of<br>Lots | 0  | 3 |
| 129 | Uri town WML  | Baramulla | Regular | 100 | ST           | CFS | 20 | 20 | 400      | 0  | 0  | Draw of<br>Lots | 0  | 3 |
| 130 | Between Narbal Crossing To Singhpora (on<br>Srinagar Uri Highway)                                     | Baramulla | Regular | 215 | Open         | CC  | 35 | 35 | 122<br>5 | 25 | 10 | Bidding         | 30 | 5 |
| 131 | Between Safa Kadal to Soura SKIMS LHS from<br>Safa Kadal to Soura (On Ali Jan Road), Srinagar<br>City | Srinagar  | Regular | 155 | OBC          | DC  | 20 | 20 | 400      | 25 | 60 | Draw of<br>Lots | 15 | 4 |
| 132 | Within 1 KM of Hotel Fortune (near BSF camp ) Nishat on Nishat to shalimar road, Srinagar City        | Srinagar  | Regular | 155 | Open         | DC  | 20 | 20 | 400      | 25 | 60 | Draw of<br>Lots | 15 | 5 |
| 133 | Between Nowshara to Boniyar Chahla on Srinagar<br>Uri Highway   | Baramulla | Regular | 155 | Open         | DC  | 20 | 20 | 400      | 25 | 75 | Draw of<br>Lots | 15 | 5 |
| 134 | Within 1 KM of Syed Sahab Shrine, Nawa Kadal<br>on Nallamar Road, Srinagar City                       | Srinagar  | Regular | 180 | Open         | DC  | 20 | 20 | 400      | 25 | 60 | Draw of<br>Lots | 15 | 5 |
| 135 | on 90 ft road from Soura and within limits of<br>Srinagar   | Srinagar  | Regular | 160 | Open         | DC  | 20 | 20 | 400      | 25 | 60 | Draw of<br>Lots | 15 | 5 |
| 136 | Between Parimpora to Sharifabad, Srinagar City  | Srinagar  | Regular | 155 | OBC          | DC  | 20 | 20 | 400      | 25 | 60 | Draw of<br>Lots | 15 | 4 |
| 137 | On Srinagar Byepass from Nowgam Railway<br>Chowk to Sanat Nagar Chowk(LHS)                            | Srinagar  | Regular | 210 | Open         | DC  | 20 | 20 | 400      | 25 | 60 | Draw of<br>Lots | 15 | 5 |
| 138 | Chokibal on NH(On Kupwara Tangdhar Road)  | Kupwara   | Regular | 160 | Open         | DC  | 20 | 20 | 400      | 25 | 75 | Draw of<br>Lots | 15 | 5 |
| 139 | Village Janbazpora on Baramulla- Handwara<br>Highway  | Baramulla | Regular | 170 | Open CC<br>1 | DC  | 35 | 35 | 122<br>5 | 25 | 75 | Draw of<br>Lots | 15 | 5 |
| 140 | Between Chotipora to Langate on (Baramulla<br>Handwara Highway)                                       | Kupwara   | Regular | 150 | OBC          | DC  | 35 | 35 | 122<br>5 | 25 | 75 | Draw of<br>Lots | 15 | 4 |
| 141 | Between Palhallan to Putkhah on Srinagar Uri<br>Highway   | Baramulla | Regular | 175 | Open         | DC  | 35 | 35 | 122<br>5 | 25 | 75 | Draw of<br>Lots | 15 | 5 |
| 142 | Dangerpora (Towards sumbal on Srinagar to Leh highway)  | Bandipora | Regular | 150 | Open         | DC  | 35 | 35 | 122<br>5 | 25 | 75 | Draw of<br>Lots | 15 | 5 |
| 143 | On new byepass from Peaks auto within limit of<br>Dist Srinagar LHS from Srinagar to Jammu            | Srinagar  | Regular | 150 | Open CC<br>1 | DC  | 35 | 45 | 157<br>5 | 25 | 75 | Draw of<br>Lots | 15 | 5 |

| 144 | Within 1 KM of District hospital, Bandipora on<br>Sumbal Sonerwari Road(WML)                        | Bandipora | Regular | 140 | ST      | CFS | 20 | 20 | 400      | 0  | 0  | Draw of<br>Lots | 0  | 3 |
|-----|---|-----------|---------|-----|---------|-----|----|----|----------|----|----|-----------------|----|---|
| 145 | Batapora Hazratbal on Batpora Shalimar Road within 1 KM of new degree college                       | Srinagar  | Regular | 247 | Open    | DC  | 20 | 20 | 400      | 25 | 60 | Draw of<br>Lots | 15 | 5 |
| 146 | Within 2 Kms of Power Grid Kangan On Srinagar<br>LEH Highway  | Ganderbal | Regular | 150 | OBC     | CC  | 20 | 20 | 400      | 25 | 10 | Bidding         | 30 | 4 |
| 147 | Within 1 KM of bus stand at Diver Yakhmanpora on Srinagar Baramulla highway                         | Baramulla | Regular | 175 | OBC     | DC  | 35 | 35 | 122<br>5 | 25 | 75 | Draw of<br>Lots | 15 | 4 |
| 148 | Within 3 KM of Harwan Garden on shalimar<br>Harwan Road   | Srinagar  | Regular | 160 | SC      | CFS | 20 | 20 | 400      | 0  | 0  | Draw of<br>Lots | 0  | 3 |
| 149 | On LHS from Narbal Chowk towards Srinagar upto<br>Noora Hospital on Uri Srinagar Highway            | Budgam    | Regular | 200 | Open    | CC  | 35 | 45 | 157<br>5 | 25 | 10 | Bidding         | 30 | 5 |
| 150 | Within 2 kms of Sangrama Chowk towards<br>Baramulla on SGR Uri Highway                              | Baramulla | Regular | 170 | OBC     | DC  | 35 | 35 | 122<br>5 | 25 | 75 | Draw of<br>Lots | 15 | 4 |
| 151 | Within 2 KM of FCI Godown(near Drugmulla)<br>towards Sopore on Kupwara Kralpora Tangdhal<br>Highway | Kupwara   | Regular | 230 | Open    | DC  | 35 | 35 | 122<br>5 | 25 | 75 | Draw of<br>Lots | 15 | 5 |
| 152 | Mouza Gulab Bagh near RP School from Habak to<br>Gulab Bagh, Srinagar City                          | Srinagar  | Regular | 150 | Open    | DC  | 20 | 20 | 400      | 25 | 60 | Draw of<br>Lots | 15 | 5 |
| 153 | Within 2 Km of receiving Station Ajar on<br>Bandipora Gurez Road(WML)                               | Bandipora | Regular | 125 | OBC     | DC  | 20 | 20 | 400      | 25 | 45 | Draw of<br>Lots | 15 | 4 |
| 154 | Within 3 Kms from NIT Gate Srinagar Towards<br>Rainawari  | Srinagar  | Regular | 170 | OBC     | DC  | 20 | 20 | 400      | 25 | 60 | Draw of<br>Lots | 15 | 4 |
| 155 | Beerwah (WML) on Beerwah - Magam Road   | Budgam    | Regular | 106 | Open    | DC  | 20 | 20 | 400      | 25 | 45 | Draw of<br>Lots | 15 | 5 |
| 156 | Within 1 kms of Main Chowk Narkara Towards<br>Srinagar on Srinagar Budgam Road(WML)                 | Budgam    | Regular | 150 | ST      | CFS | 20 | 20 | 400      | 0  | 0  | Draw of<br>Lots | 0  | 3 |
| 157 | Kupwara Town (within Municipal Limits)  | Kupwara   | Regular | 180 | OBC PH  | DC  | 20 | 20 | 400      | 25 | 45 | Draw of<br>Lots | 15 | 4 |
| 158 | Within 3kms from Govt. Woolen Mill, Bagi Ali<br>Mardan Towards Lal Bazar(wml)                       | Srinagar  | Regular | 210 | SC PH   | CFS | 20 | 20 | 400      | 0  | 0  | Draw of<br>Lots | 0  | 3 |
| 159 | Within 3 Kms from Manigam Police Training<br>Centre Towards Sumbal on NH                            | Ganderbal | Regular | 150 | ST PH   | CFS | 20 | 20 | 400      | 0  | 0  | Draw of<br>Lots | 0  | 3 |
| 160 | Within 2 Kms from SKIMS Hospital Towards<br>Eidgah on Dr Ali Jan Road                               | Srinagar  | Regular | 200 | Open    | DC  | 20 | 20 | 400      | 25 | 60 | Draw of<br>Lots | 15 | 5 |
| 161 | Within 2 Kms from Police Station Sadder towards airport on Airport Road                             | Srinagar  | Regular | 270 | Open    | DC  | 20 | 20 | 400      | 25 | 60 | Draw of<br>Lots | 15 | 5 |
| 162 | Between Naraspora Bridge and Townhall Budgam  | Budgam    | Regular | 100 | Open    | DC  | 20 | 20 | 400      | 25 | 45 | Draw of<br>Lots | 15 | 5 |
| 163 | Between Mehjoor Bridge and Padshahi Bagh on<br>Mehjoor Nagar-Padshahi Bagh-Lasjan Road              | Srinagar  | Regular | 170 | ST CC 1 | CFS | 20 | 20 | 400      | 0  | 0  | Draw of<br>Lots | 0  | 3 |
| 164 | Ladoora On Baramulla Handwara Highway   | Baramulla | Regular | 170 | Open    | DC  | 35 | 35 | 122<br>5 | 25 | 75 | Draw of<br>Lots | 15 | 5 |

| 165 | Rakhi Shalina on Srinagar-Banihal Expressway   | Budgam   | Regular | 150 | Open PH      | DC  | 35 | 45 | 157<br>5 | 25 | 75 | Draw of<br>Lots | 15 | 5 |
|-----|--|----------|---------|-----|--------------|-----|----|----|----------|----|----|-----------------|----|---|
| 166 | Rambagh Payeen from Rambagh Bridge upto<br>Natipora Chowk  | Srinagar | Regular | 155 | Open         | DC  | 20 | 20 | 400      | 25 | 60 | Draw of<br>Lots | 15 | 5 |
| 167 | Between Nimmu to Bazgo on either of Leh-<br>Srinagar NH  | Leh      | Regular | 160 | ST           | CFS | 20 | 20 | 400      | 0  | 0  | Draw of<br>Lots | 0  | 3 |
| 168 | Seeri Hamdan Chowk to Grid Station Hutmarah on Khannabal-Pahalgam Road(WML)                                  | Anantnag | Regular | 100 | Open         | DC  | 20 | 20 | 400      | 25 | 45 | Draw of<br>Lots | 15 | 5 |
| 169 | Within 2 kms from sangam chowk towards<br>Jammu on new bype pass on LHS                                      | Anantnag | Regular | 150 | Open         | DC  | 35 | 45 | 157<br>5 | 25 | 75 | Draw of<br>Lots | 15 | 5 |
| 170 | Within Muncipal limits of Shopian town   | Shopian  | Regular | 110 | Open         | DC  | 20 | 20 | 400      | 25 | 45 | Draw of<br>Lots | 15 | 5 |
| 171 | From Mehdi Kadal to Ashajipora Bridge on either side of new by pass  | Anantnag | Regular | 150 | OBC          | DC  | 35 | 45 | 157<br>5 | 25 | 75 | Draw of<br>Lots | 15 | 4 |
| 172 | Within 2 km from Sangam bridge to Malpora towards Qazigund on RHS of new NH.                                 | Anantnag | Regular | 150 | Open         | CC  | 35 | 45 | 157<br>5 | 25 | 10 | Bidding         | 30 | 5 |
| 173 | Within 5 Km from Wangam towards Kashtiwar on either side of Anantnag-Kokernag-Kashtwar highway.              | Anantnag | Regular | 150 | ST           | CFS | 35 | 35 | 122<br>5 | 0  | 0  | Draw of<br>Lots | 0  | 3 |
| 174 | Sankoo on Kargil Zanskar road  | Kargil   | Regular | 190 | ST           | CFS | 20 | 20 | 400      | 0  | 0  | Draw of<br>Lots | 0  | 3 |
| 175 | Within 3 kms on LHS from Govt Hr secondary school Vessu towards Jammu on new NH                              | Anantnag | Regular | 150 | Open CC<br>1 | DC  | 35 | 45 | 157<br>5 | 25 | 75 | Draw of<br>Lots | 15 | 5 |
| 176 | Verinag within muncipal Limits on Dooru Verinag road   | Anantnag | Regular | 100 | Open         | DC  | 20 | 20 | 400      | 25 | 45 | Draw of<br>Lots | 15 | 5 |
| 177 | Within 2 kms on LHS from Vessu to Nipora<br>towards Srinagar on NH44   | Anantnag | Regular | 150 | Open         | CC  | 35 | 45 | 157<br>5 | 25 | 10 | Bidding         | 30 | 5 |
| 178 | Within 3 Kms From Govt. Primary Health Centre<br>Akingam Towards Kokernag on Anantnag<br>Kishtawar Road(WML) | Anantnag | Regular | 100 | OBC CC 1     | DC  | 20 | 20 | 400      | 25 | 45 | Draw of<br>Lots | 15 | 4 |
| 179 | On LHS within 3 Kms from FCl Godown Lethpora<br>Towards Anantnag on Srinagar Jammu National<br>Highway       | Pulwama  | Regular | 150 | Open         | DC  | 35 | 45 | 157<br>5 | 25 | 75 | Draw of<br>Lots | 15 | 5 |
| 180 | Within 3 KMs from Thajwara on Anantnag<br>Achabal road towards Achabal on either side of<br>road             | Anantnag | Regular | 160 | OBC          | CC  | 35 | 35 | 122<br>5 | 25 | 10 | Bidding         | 30 | 4 |
| 181 | On either side of NH1A from Semthan to<br>Bijbehara  | Anantnag | Regular | 150 | Open         | DC  | 35 | 35 | 122<br>5 | 25 | 75 | Draw of<br>Lots | 15 | 5 |
| 182 | Within 3 Kms from Govt. Primary Health Centre<br>Brakpora Towards Acchabal on Anantnag<br>Acchabal Road(WML) | Anantnag | Regular | 100 | Open CC<br>1 | DC  | 20 | 20 | 400      | 25 | 45 | Draw of<br>Lots | 15 | 5 |
| 183 | Within muncipal limts of Leh on Leh-Nubra Road.  | Leh      | Regular | 100 | ST           | CFS | 20 | 20 | 400      | 0  | 0  | Draw of<br>Lots | 0  | 3 |

| 184 | Between Letpora to Chorsoo on RHS of new NH<br>from Srinagar to Jammu  | Pulwama  | Regular | 155 | Open         | DC  | 35 | 45 | 157<br>5 | 25 | 75 | Draw of<br>Lots | 15 | 5 |
|-----|--|----------|---------|-----|--------------|-----|----|----|----------|----|----|-----------------|----|---|
| 185 | between Pujteng to Chorsoo on NH on RHS while going from Qazigund to Srinagar  | Anantnag | Regular | 150 | Open         | DC  | 35 | 45 | 157<br>5 | 25 | 75 | Draw of<br>Lots | 15 | 5 |
| 186 | Within 3 Kms from District Hospital Anantnag<br>towards Dooru on either side of Dialgam Dooru<br>Road(WML)                         | Anantnag | Regular | 105 | Open CC<br>1 | DC  | 20 | 20 | 400      | 25 | 45 | Draw of<br>Lots | 15 | 5 |
| 187 | Achabal (WML)  | Anantnag | Regular | 115 | OBC          | DC  | 20 | 20 | 400      | 25 | 45 | Draw of<br>Lots | 15 | 4 |
| 188 | Within 2 km from Govt degree college pulwama<br>towards srinagar on Pulwama Srinagar road on<br>LHS(WML)                           | Pulwama  | Regular | 100 | ST           | CFS | 20 | 20 | 400      | 0  | 0  | Draw of<br>Lots | 0  | 3 |
| 189 | Pulwama municipal limits on Srinagar Pulwama<br>shopian main Road via gongoo   | Pulwama  | Regular | 100 | OBC          | DC  | 20 | 20 | 400      | 25 | 45 | Draw of<br>Lots | 15 | 4 |
| 190 | Within 3 Kms From Shopian Fruit Mandi Towards<br>Pulwama on Shopian-Pulwama Road(WML)  | Shopian  | Regular | 100 | ST           | CFS | 20 | 20 | 400      | 0  | 0  | Draw of<br>Lots | 0  | 3 |
| 191 | Between milestones "5 KM Nimmo" and "3 KM<br>Nimmo" on Srinagar - Leh Road   | Leh      | Regular | 150 | ST           | CFS | 20 | 20 | 400      | 0  | 0  | Draw of<br>Lots | 0  | 3 |
| 192 | Between District Police Line(Choglamsar) to<br>Thiksey on either side of Leh Manali road   | Leh      | Regular | 150 | ST           | CFS | 20 | 20 | 400      | 0  | 0  | Draw of<br>Lots | 0  | 3 |
| 193 | With 3 Kms from Barsoo to Letpora on LHS of<br>New Qaziund Srinagar NH   | Pulwama  | Regular | 160 | Open         | DC  | 35 | 45 | 157<br>5 | 25 | 75 | Draw of<br>Lots | 15 | 5 |
| 194 | From Wujru to Levdora towards Srinagar on RHS of new Jammu Srinagar NH   | Kulgam   | Regular | 180 | Open         | CC  | 35 | 45 | 157<br>5 | 25 | 10 | Bidding         | 30 | 5 |
| 195 | Between Skalzangling chowk to IOCL Bulk Depot(WML)   | Leh      | Regular | 100 | Open CC<br>1 | DC  | 20 | 20 | 400      | 25 | 45 | Draw of<br>Lots | 15 | 5 |
| 196 | Within 4 Kms from Khanabal chowk towards<br>Jammu on either side of NH1A   | Anantnag | Regular | 165 | Open         | DC  | 35 | 35 | 122<br>5 | 25 | 75 | Draw of<br>Lots | 15 | 5 |
| 197 | Padum on Kargil Zanskar Road   | Kargil   | Regular | 150 | ST           | CFS | 20 | 20 | 400      | 0  | 0  | Draw of<br>Lots | 0  | 3 |
| 198 | On RHS from Tral bus stand towards Awantipora within 2 km(WML)   | Pulwama  | Regular | 100 | Open         | DC  | 20 | 20 | 400      | 25 | 45 | Draw of<br>Lots | 15 | 5 |
| 199 | On RHS Within 3 Kms from Govt. Health and Family Welfare Department Kachakoot Towards Srinagar on Jammu Srinagar National Highway. | Pulwama  | Regular | 150 | Open         | DC  | 35 | 45 | 157<br>5 | 25 | 75 | Draw of<br>Lots | 15 | 5 |
| 200 | Within 5 kms on Kargil Zanskar road under<br>municipal limits of Kargil  | Kargil   | Regular | 150 | ST           | CFS | 20 | 20 | 400      | 0  | 0  | Draw of<br>Lots | 0  | 3 |
| 201 | Between Bijbehara crossing and Khudwani chowk on NH44 on either side   | Anantnag | Regular | 150 | Open         | DC  | 35 | 45 | 157<br>5 | 25 | 75 | Draw of<br>Lots | 15 | 5 |
| 202 | Within municipal limits of Kulgam  | Kulgam   | Regular | 100 | OBC          | DC  | 20 | 20 | 400      | 25 | 45 | Draw of<br>Lots | 15 | 4 |
| 203 | Village Trithloo   | Doda     | Rural   | 50  | SC           | CFS | 20 | 20 | 400      | 0  | 0  | Draw Of<br>Lots | 0  | 2 |

|     |   |              |       |     |         | 1   |    | -  |     |    | -  | •               | - |   |
|-----|---|--------------|-------|-----|---------|-----|----|----|-----|----|----|-----------------|---|---|
| 204 | Village Gudwal-a  | Samba        | Rural | 52  | SC      | CFS | 20 | 20 | 400 | 0  | 0  | Draw Of<br>Lots | 0 | 2 |
| 205 | Village Jandi   | Kathua       | Rural | 52  | SC      | CFS | 20 | 20 | 400 | 0  | 0  | Draw Of<br>Lots | 0 | 2 |
| 206 |   |              |       |     |         | CFS | 20 |    |     |    |    | Draw Of         | 0 |   |
| 200 | Vill Sohag Pur on Arnia-Sarore Road   | Jammu        | Rural | 50  | SC      | CF3 | 20 | 20 | 400 | 0  | 0  | Lots<br>Draw Of | 0 | 2 |
| 207 | Village Salehar via Bishna Arnia Road   | Jammu        | Rural | 60  | ST      | CFS | 20 | 20 | 400 | 0  | 0  | Lots            | 0 | 2 |
| 208 | Vill-Asham  | Bandipora    | Rural | 70  | ST      | CFS | 20 | 20 | 400 | 0  | 0  | Draw Of<br>Lots | 0 | 2 |
| 209 | Vill-Tarazu   | Baramulla    | Rural | 65  | ST      | CFS | 20 | 20 | 400 | 0  | 0  | Draw Of<br>Lots | 0 | 2 |
| 210 | Village Kanihama  | Budgam       | Rural | 60  | ST      | CFS | 20 | 20 | 400 | 0  | 0  | Draw Of<br>Lots | 0 | 2 |
| 211 | Vill-Saboo  | Leh          | Rural | 60  | ST      | CFS | 20 | 20 | 400 | 0  | 0  | Draw Of<br>Lots | 0 | 2 |
| 212 | Mustpora  | Shopian      | Rural | 60  | ST      | CFS | 20 | 20 | 400 | 0  | 0  | Draw Of<br>Lots | 0 | 2 |
| 213 | Vill Khalsar within 2 Km from Nubra T-Point<br>towards Leh.                   | Leh          | Rural | 100 | ST      | CFS | 20 | 20 | 400 | 0  | 0  | Draw Of<br>Lots | 0 | 2 |
| 214 | Village Khein ( On Ramnagar Road)   | Udhampur     | Rural | 50  | SC      | CFS | 20 | 20 | 400 | 0  | 0  | Draw Of<br>Lots | 0 | 2 |
| 215 | Village Karool on Sarthal Road  | Kishtwar     | Rural | 50  | SC PH   | CFS | 20 | 20 | 400 | 0  | 0  | Draw Of<br>Lots | 0 | 2 |
|     |   | 1.1011111111 |       |     | 33111   |     |    |    |     |    |    | Draw Of         |   |   |
| 216 | Village Ransoo (on Pouni - Kalakote Road)                                     | Reasi        | Rural | 50  | Open    | DC  | 20 | 20 | 400 | 12 | 30 | Lots<br>Draw Of | 5 | 4 |
| 217 | Village Jar (On Sial-Jattan Sorap Road)                                       | Udhampur     | Rural | 50  | Open    | DC  | 20 | 20 | 400 | 12 | 30 | Lots            | 5 | 4 |
| 218 | Village Pouni (Within 3 Kms Either side of<br>Govt Higher Sec School, Pouni ) | Reasi        | Rural | 70  | Open    | DC  | 20 | 20 | 400 | 12 | 30 | Draw Of<br>Lots | 5 | 4 |
| 219 | Village Bajarni   | Doda         | Rural | 50  | ST      | CFS | 20 | 20 | 400 | 0  | 0  | Draw Of<br>Lots | 0 | 2 |
| 220 | Village Gulab Garh  | Kishtwar     | Rural | 50  | ST CC 1 | CFS | 20 | 20 | 400 | 0  | 0  | Draw Of<br>Lots | 0 | 2 |
| 221 | Vill-Battal on Kishenpur-Domel Road   | Udhampur     | Rural | 50  | Open    | DC  | 20 | 20 | 400 | 12 | 30 | Draw Of<br>Lots | 5 | 4 |
| 222 | Village Kakrial (Within 2 Kms on Kakrial-Tikri<br>Road)                       | Reasi        | Rural | 50  | Open    | DC  | 20 | 20 | 400 | 12 | 30 | Draw Of<br>Lots | 5 | 4 |
| 223 | Village Khera Lehar (on Pouni-Kalakote Road)                                  | Reasi        | Rural | 50  | SC CC 1 | CFS | 20 | 20 | 400 | 0  | 0  | Draw Of<br>Lots | 0 | 2 |
| 224 | Village Bidha   | Reasi        | Rural | 50  | SC      | CFS | 20 | 20 | 400 | 0  | 0  | Draw Of<br>Lots | 0 | 2 |

|     |   |          |        | ĺ  | Open CC |     | Ī  |    |     |    |    | Draw Of         | Ī | Ī |
|-----|---|----------|--------|----|---------|-----|----|----|-----|----|----|-----------------|---|---|
| 225 | Village Sangaldan                             | Ramban   | Rural  | 50 | 1       | DC  | 20 | 20 | 400 | 12 | 30 | Lots            | 5 | 4 |
| 226 | Village Sudhmahadev                           | Udhampur | Rural  | 50 | Open    | DC  | 20 | 20 | 400 | 12 | 30 | Draw Of<br>Lots | 5 | 4 |
|     | vinage saarimanadev                           | ounampui | Kurui  | 30 | Орсп    | DO  | 20 | 20 | 400 | 12 | 30 | Draw Of         | 3 | 7 |
| 227 | Village Jib (On Jib-Katra Road)               | Udhampur | Rural  | 50 | Open    | DC  | 20 | 20 | 400 | 12 | 30 | Lots            | 5 | 4 |
| 228 | Village Gool                                  | Ramban   | Rural  | 50 | SC      | CFS | 20 | 20 | 400 | 0  | 0  | Draw Of<br>Lots | 0 | 2 |
|     | - mag   |          |        |    |         |     |    |    |     |    |    | Draw Of         |   |   |
| 229 | Village Puthwar                               | Udhampur | Rural  | 50 | OBC     | DC  | 20 | 20 | 400 | 12 | 30 | Lots            | 5 | 3 |
| 230 | Village Ghar Sawanabanj                       | Udhampur | Rural  | 50 | OBC     | DC  | 20 | 20 | 400 | 12 | 30 | Draw Of<br>Lots | 5 | 3 |
| 001 |   | ·        |        |    |         |     |    |    |     |    |    | Draw Of         |   |   |
| 231 | Village Chamalwas                             | Ramban   | Rural  | 50 | OBC     | DC  | 20 | 20 | 400 | 12 | 30 | Lots            | 5 | 3 |
| 232 | Village Pogal                                 | Ramban   | Rural  | 50 | OBC     | DC  | 20 | 20 | 400 | 12 | 30 | Draw Of<br>Lots | 5 | 3 |
| 000 |   |          |        |    |         |     |    |    |     |    |    | Draw Of         |   |   |
| 233 | Village Bain Bajal-On Sidhra to Mansar Road   | Jammu    | Rural  | 53 | Open    | DC  | 20 | 20 | 400 | 12 | 30 | Lots            | 5 | 4 |
| 234 | Village Bani- along Basohli-Bani-Sarthal Road | Kathua   | Rural  | 50 | Open    | DC  | 20 | 20 | 400 | 12 | 30 | Draw Of<br>Lots | 5 | 4 |
| 235 |   |          |        |    |         | 5.0 |    |    |     |    |    | Draw Of         | _ |   |
| 235 | Vill Khour Salarian                           | Samba    | Rural  | 52 | Open    | DC  | 20 | 20 | 400 | 12 | 30 | Lots<br>Draw Of | 5 | 4 |
| 236 | Vill Pangwal                                  | Samba    | Rural  | 52 | OBC     | DC  | 20 | 20 | 400 | 12 | 30 | Lots            | 5 | 3 |
| 227 |   |          |        |    | 0.00    |     |    |    |     |    |    | Draw Of         | _ |   |
| 237 | VillageThara Kalwal - On Udhampur Dhar Rd     | Kathua   | Rural  | 52 | OBC     | DC  | 20 | 20 | 400 | 12 | 30 | Lots<br>Draw Of | 5 | 3 |
| 238 | Village Kore Punnu                            | Kathua   | Rural  | 52 | OBC     | DC  | 20 | 20 | 400 | 12 | 30 | Lots            | 5 | 3 |
| 239 | Vill Kunthal                                  | Kathua   | Rural  | 52 | OBC     | DC  | 20 | 20 | 400 | 12 | 30 | Draw Of<br>Lots | 5 | 3 |
| 237 | VIII KUITITIAI                                | Katriua  | Kui ai | 32 | OBC     | DC  | 20 | 20 | 400 | 12 | 30 | Draw Of         | 5 | 3 |
| 240 | Vill Hirachak                                 | Samba    | Rural  | 52 | OBC     | DC  | 20 | 20 | 400 | 12 | 30 | Lots            | 5 | 3 |
| 241 |   |          |        |    |         |     |    |    |     |    |    | Draw Of         | _ | _ |
| 241 | Vill Rajpura                                  | Samba    | Rural  | 52 | Open    | DC  | 20 | 20 | 400 | 12 | 30 | Lots<br>Draw Of | 5 | 4 |
| 242 | Vill Swankha                                  | Samba    | Rural  | 52 | SC      | CFS | 20 | 20 | 400 | 0  | 0  | Lots            | 0 | 2 |
| 243 | Village Meen Sarkar                           | Samba    | Rural  | 52 | ST PH   | CFS | 20 | 20 | 400 | 0  | 0  | Draw Of<br>Lots | 0 | 2 |
|     | •   | Juliba   |        |    |         |     |    |    |     |    |    | Draw Of         |   |   |
| 244 | Vill Mangnar                                  | Poonch   | Rural  | 50 | ST      | CFS | 20 | 20 | 400 | 0  | 0  | Lots            | 0 | 2 |
| 245 | Seikloo village (Seiklu Mandi Road)           | Poonch   | Rural  | 80 | ST      | CFS | 20 | 20 | 400 | 0  | 0  | Draw Of<br>Lots | 0 | 2 |

| 1   |  |         |       |     |          |     |    |    |     |    |    | Draw Of         |   |   |
|-----|--|---------|-------|-----|----------|-----|----|----|-----|----|----|-----------------|---|---|
| 246 | Vill Manjakote   | Rajouri | Rural | 50  | ST       | CFS | 20 | 20 | 400 | 0  | 0  | Lots            | 0 | 2 |
| 247 | Vill Chak Abtara   | Jammu   | Rural | 60  | OBC      | DC  | 20 | 20 | 400 | 12 | 30 | Draw Of<br>Lots | 5 | 3 |
|     |  |         |       |     | Open CC  |     |    |    |     |    |    | Draw Of         |   |   |
| 248 | Vill Jhiri   | Jammu   | Rural | 55  | 1        | DC  | 20 | 20 | 400 | 12 | 30 | Lots            | 5 | 4 |
| 249 | Vill Chak Malal On Palanwala Akhnoor Road                | Jammu   | Rural | 50  | OBC      | DC  | 20 | 20 | 400 | 12 | 30 | Draw Of<br>Lots | 5 | 3 |
| 250 | Vill. Palwan on Akhnoor Pallanwala main road             | Jammu   | Rural | 50  | SC       | CFS | 20 | 20 | 400 | 0  | 0  | Draw Of<br>Lots | 0 | 2 |
| 251 | Vill. Dodarsan Bala                                      | Rajouri | Rural | 50  | OBC      | DC  | 20 | 20 | 400 | 12 | 30 | Draw Of<br>Lots | 5 | 3 |
| 252 | Village Suha wada on Bishnah to Kotli Mian Fateh<br>Rd   | Jammu   | Rural | 105 | Open     | DC  | 20 | 20 | 400 | 12 | 30 | Draw Of<br>Lots | 5 | 4 |
| 253 | Vill-Kotli Mian Fateh on Kotli- Miran Sahib Road         | Jammu   | Rural | 60  | SC       | CFS | 20 | 20 | 400 | 0  | 0  | Draw Of<br>Lots | 0 | 2 |
| 254 | Village Alora on Phallain Mandal Road                    | Jammu   | Rural | 120 | Open     | DC  | 20 | 20 | 400 | 12 | 30 | Draw Of<br>Lots | 5 | 4 |
| 255 | Village Diwangarh on Hansa to Sai Road                   | Jammu   | Rural | 110 | ST CC 1  | CFS | 20 | 20 | 400 | 0  | 0  | Draw Of<br>Lots | 0 | 2 |
| 256 | Village Makhanpur Gujran on Satwari to RS Pura<br>Rd.    | Jammu   | Rural | 94  | Open     | DC  | 20 | 20 | 400 | 12 | 30 | Draw Of<br>Lots | 5 | 4 |
| 257 | Village Mattu on Jourian-Khour Rd.                       | Jammu   | Rural | 90  | Open     | DC  | 20 | 20 | 400 | 12 | 30 | Draw Of<br>Lots | 5 | 4 |
| 258 | Vill Lower Muthi on patta Bohri - Gajansu Marh<br>road   | Jammu   | Rural | 94  | OBC CC 1 | DC  | 20 | 20 | 400 | 12 | 30 | Draw Of<br>Lots | 5 | 3 |
| 259 | Vill Saranu on Saranu - Kalakote Rd.                     | Rajouri | Rural | 90  | OBC      | DC  | 20 | 20 | 400 | 12 | 30 | Draw Of<br>Lots | 5 | 3 |
| 260 | Vill Tacharwan on Mandian-Nambal Rd                      | Jammu   | Rural | 80  | OBC      | DC  | 20 | 20 | 400 | 12 | 30 | Draw Of<br>Lots | 5 | 3 |
| 261 | Vill Langryal on RS Pura Suchetgarh Road                 | Jammu   | Rural | 80  | OBC PH   | DC  | 20 | 20 | 400 | 12 | 30 | Draw Of<br>Lots | 5 | 3 |
| 262 | Vill Chakrohi  | Jammu   | Rural | 75  | Open     | DC  | 20 | 20 | 400 | 12 | 30 | Draw Of<br>Lots | 5 | 4 |
| 263 | Vill Kangral sangrail on Akhnoor Pallanwala main<br>road | Jammu   | Rural | 100 | Open     | DC  | 20 | 20 | 400 | 12 | 30 | Draw Of<br>Lots | 5 | 4 |
| 264 | Vill Aitey, Between Darhal Bridge to Chatyad             | Rajouri | Rural | 60  | ST       | CFS | 20 | 20 | 400 | 0  | 0  | Draw Of<br>Lots | 0 | 2 |
| 265 | Vill-Rajal Thathi  | Rajouri | Rural | 60  | OBC      | DC  | 20 | 20 | 400 | 12 | 30 | Draw Of<br>Lots | 5 | 3 |
| 266 | Vill-Chohalla  | Jammu   | Rural | 55  | SC       | CFS | 20 | 20 | 400 | 0  | 0  | Draw Of<br>Lots | 0 | 2 |

| 267 | VIII Champa abak an Michritiala Ibiri Daad   | lomemer   | Dural  | 70   | OBC      | DC  | 20  | 20  | 400 | 12  | 30   | Draw Of<br>Lots | 5  |   |
|-----|--|-----------|--------|------|----------|-----|-----|-----|-----|-----|------|-----------------|----|---|
| 207 | Vill-Shama chak on Mishriwala-Jhiri Road Vill Shahpur Brahmana on Traf Brahmana To | Jammu     | Rural  | 70   | OBC      | DC  | 20  | 20  | 400 | 12  | 30   | Draw Of         | 5  | 3 |
| 268 | Kheri road   | Jammu     | Rural  | 70   | OBC      | DC  | 20  | 20  | 400 | 12  | 30   | Lots            | 5  | 3 |
| 269 | Will Old Advisor (and Old Advisor to DCD and Davis)                                | 1         | Dl     | F.0  | 0        | DO  | 00  | 00  | 400 | 10  | 20   | Draw Of         | 1  |   |
| 209 | Vill- Chak Aslam(on Chak Aslam to RS Pura Road)                                    | Jammu     | Rural  | 50   | Open     | DC  | 20  | 20  | 400 | 12  | 30   | Lots<br>Draw Of | 5  | 4 |
| 270 | Vill-Jad on Gurha Jagir to Chigial road  | Jammu     | Rural  | 60   | Open     | DC  | 20  | 20  | 400 | 12  | 30   | Lots            | 5  | 4 |
| 271 | VIII.VII.  |           | Б      |      |          | D.0 | 0.0 | 0.0 | 400 | 4.0 | 0.0  | Draw Of         | 1  |   |
| 2/1 | Vill-Warpora (on Sopore Bandipora Road)  | Baramulla | Rural  | 60   | Open     | DC  | 20  | 20  | 400 | 12  | 30   | Lots<br>Draw Of | 5  | 4 |
| 272 | Village Husipora From Husipora to Baghishul  | Budgam    | Rural  | 70   | OBC      | DC  | 20  | 20  | 400 | 12  | 30   | Lots            | 5  | 3 |
| 070 |  |           |        |      |          |     |     |     |     | _   |      | Draw Of         |    |   |
| 273 | Vill-Gockhama on Kunzer to Tangmarg road   | Baramulla | Rural  | 80   | SC       | CFS | 20  | 20  | 400 | 0   | 0    | Lots<br>Draw Of | 0  | 2 |
| 274 | Village Malmoh between Magam to Hagarpora  | Baramulla | Rural  | 70   | Open     | DC  | 20  | 20  | 400 | 12  | 30   | Lots            | 5  | 4 |
| 075 | Vill Safapora, from Safapora Main Chowk towards                                    |           |        |      |          |     |     |     |     |     |      | Draw Of         |    |   |
| 275 | Bandipora  | Ganderbal | Rural  | 75   | OBC      | DC  | 20  | 20  | 400 | 12  | 30   | Lots            | 5  | 3 |
| 276 | Vill Aripanthan on Warihan to Aripanthan road                                      | Budgam    | Rural  | 75   | Open     | DC  | 20  | 20  | 400 | 12  | 30   | Draw Of<br>Lots | 5  | 4 |
| 077 | ·  |           |        |      | ·        |     |     |     |     |     |      | Draw Of         |    |   |
| 277 | Village Daulatpora on Chadoora Pulwama Road  | Budgam    | Rural  | 54   | Open     | DC  | 20  | 20  | 400 | 12  | 30   | Lots            | 5  | 4 |
| 278 | Village Arigam on Budgam-Doodhpathri-<br>Khansahib Road                            | Budgam    | Rural  | 59   | ST       | CFS | 20  | 20  | 400 | 0   | 0    | Draw Of<br>Lots | 0  | 2 |
|     |  | g         |        |      |          |     |     |     |     | -   |      | Draw Of         |    |   |
| 279 | Vill-Bugroo  | Budgam    | Rural  | 70   | Open     | DC  | 20  | 20  | 400 | 12  | 30   | Lots            | 5  | 4 |
| 280 | Vill Daril   | Kupwara   | Rural  | 50   | Open     | DC  | 20  | 20  | 400 | 12  | 30   | Draw Of<br>Lots | 5  | 4 |
|     | VIII Dai II  | Kapwara   | Rarar  | - 50 | Орен     | В0  | 20  |     | 100 | 12  | - 00 | Draw Of         | 3  |   |
| 281 | Village Parirampora  | Ganderbal | Rural  | 50   | OBC CC 1 | DC  | 20  | 20  | 400 | 12  | 30   | Lots            | 5  | 3 |
| 282 | Village Kaisermullah   | Budgam    | Rural  | 50   | Open     | DC  | 20  | 20  | 400 | 12  | 30   | Draw Of<br>Lots | 5  | 4 |
| 202 | Village Kaisei Hullari   | buugam    | Kurai  | 30   | Орен     | DC  | 20  | 20  | 400 | 12  | 30   | Draw Of         | J  | 7 |
| 283 | Village Gowharpora, Within 1 km of JK bank   | Budgam    | Rural  | 52   | OBC      | DC  | 20  | 20  | 400 | 12  | 30   | Lots            | 5  | 3 |
| 284 | Vill Chichilora  | Budgam    | Rural  | 57   | Open PH  | DC  | 20  | 20  | 400 | 12  | 30   | Draw Of<br>Lots | 5  | 4 |
| 204 | Within 1 km from Bus Stop at Village charangam                                     | buuyanii  | Kui ai | 37   | Оренти   | DC  | 20  | 20  | 400 | 12  | 30   | Draw Of         | )  | 4 |
| 285 | on Budgam Beerwah road   | Budgam    | Rural  | 52   | Open     | DC  | 20  | 20  | 400 | 12  | 30   | Lots            | 5  | 4 |
| 286 | Villago Nagam on Nagam Chadura road  | Dudgam    | Dural  | 56   | Opon     | DC  | 20  | 20  | 400 | 10  | 30   | Draw Of<br>Lots | 5  | 4 |
|     | Village Nagam on Nagam Chadura road  | Budgam    | Rural  | 30   | Open     | DC  | 20  | 20  | 400 | 12  | 30   | Draw Of         | ິນ | 4 |
| 287 | Village Khumbreyal Between Khumreyal to Lolab                                      | Kupwara   | Rural  | 70   | Open     | DC  | 20  | 20  | 400 | 12  | 30   | Lots            | 5  | 4 |

|     |  |            |       | I   | [               |     | ĺ  | Í  |     |    | [ ] | Draw Of         | Ī | 1 1 |
|-----|--|------------|-------|-----|-----------------|-----|----|----|-----|----|-----|-----------------|---|-----|
| 288 | Vill-Zangli  | Kupwara    | Rural | 55  | OBC             | DC  | 20 | 20 | 400 | 12 | 30  | Lots            | 5 | 3   |
| 289 | Within 1 kms of Village Narainbagh on Badsari<br>Road                          | Ganderbal  | Rural | 52  | Open CC         | DC  | 20 | 20 | 400 | 12 | 30  | Draw Of<br>Lots | 5 | 4   |
| 207 | Rodu   | Gariderbai | Kurai | 32  | 1               | DC  | 20 | 20 | 400 | 12 | 30  | Draw Of         | J | 4   |
| 290 | Village Utligam on Beerwah Badgam Road   | Budgam     | Rural | 49  | OBC             | DC  | 20 | 20 | 400 | 12 | 30  | Lots            | 5 | 3   |
| 291 | Within 1 km of village Gadoora from Buchpora to                                | 0          | D1    | F.4 | 0               | DO  | 00 | 00 | 400 | 40 | 20  | Draw Of         | _ |     |
| 291 | Ganderbal  | Ganderbal  | Rural | 54  | Open            | DC  | 20 | 20 | 400 | 12 | 30  | Lots<br>Draw Of | 5 | 4   |
| 292 | Vill-Takia Batpora on Magam Tangmarg Road                                      | Baramulla  | Rural | 80  | Open            | DC  | 20 | 20 | 400 | 12 | 30  | Lots            | 5 | 4   |
| 000 | Village Chandpora ,Within 1 km of FCI Godown                                   |            |       |     |                 |     |    |    |     |    |     | Draw Of         |   |     |
| 293 | on Budgam Beerwah Road   | Budgam     | Rural | 58  | Open            | DC  | 20 | 20 | 400 | 12 | 30  | Lots            | 5 | 4   |
| 294 | Vill Khanda  | Budgam     | Rural | 65  | ST              | CFS | 20 | 20 | 400 | 0  | 0   | Draw Of<br>Lots | 0 | 2   |
|     | Village Hanjiwara Within 2 kms from Hanjiwera                                  | 2 daga     |       |     | 0.              | 0.0 |    |    |     |    |     | 2010            |   |     |
| 205 | Bridge towards Magam on Pattan Magam Link                                      |            |       |     |                 |     |    |    |     |    |     | Draw Of         | _ | _   |
| 295 | Road Village Malpora Within 2kms from Govt High                                | Baramulla  | Rural | 64  | OBC             | DC  | 20 | 20 | 400 | 12 | 30  | Lots<br>Draw Of | 5 | 3   |
| 296 | School Malpora Sadarkot to Ajas  | Bandipora  | Rural | 52  | OBC             | DC  | 20 | 20 | 400 | 12 | 30  | Lots            | 5 | 3   |
|     | ,  |            |       |     |                 |     |    |    |     |    |     | Draw Of         |   |     |
| 297 | Village Panzan on Chadura-panzan-ichigam road                                  | Budgam     | Rural | 52  | OBC             | DC  | 20 | 20 | 400 | 12 | 30  | Lots            | 5 | 3   |
| 298 | Village Kreeri Within 2 Kms from Kreeri Chowk<br>towards Pattan on Kreeri Road | Baramulla  | Rural | 52  | OBC             | DC  | 20 | 20 | 400 | 12 | 30  | Draw Of<br>Lots | 5 | 3   |
| 270 | towards Fattan on Ricci Road   | Daramana   | Narai | 32  | OBO             |     | 20 | 20 | 400 | 12 | 30  | Draw Of         | 3 | 3   |
| 299 | Village Pushwari within 1 KM of fire station                                   | Bandipora  | Rural | 76  | Open            | DC  | 20 | 20 | 400 | 12 | 30  | Lots            | 5 | 4   |
| 300 | illana Zanimana an Cannah Arizal Daad  | Decelorana | Domal | 70  | 0               | DC  | 20 | 20 | 400 | 10 | 20  | Draw Of         | _ |     |
| 300 | village Zanigam on Sonpah Arizal Road  | Budgam     | Rural | 70  | Open<br>Open CC | DC  | 20 | 20 | 400 | 12 | 30  | Lots<br>Draw Of | 5 | 4   |
| 301 | Village Durbug   | Budgam     | Rural | 56  | 1               | DC  | 20 | 20 | 400 | 12 | 30  | Lots            | 5 | 4   |
| 000 |  | -          |       |     |                 |     |    |    |     |    |     | Draw Of         |   |     |
| 302 | Village Doian  | Budgam     | Rural | 54  | Open            | DC  | 20 | 20 | 400 | 12 | 30  | Lots            | 5 | 4   |
| 303 | Village Harinara   | Baramulla  | Rural | 52  | SC              | CFS | 20 | 20 | 400 | 0  | 0   | Draw Of<br>Lots | 0 | 2   |
|     | Abli Khushpora on khushpora Shalteng   |            |       |     |                 |     |    |    |     |    | -   | Draw Of         | - | _   |
| 304 | Road(OML)  | Srinagar   | Rural | 66  | Open            | DC  | 20 | 20 | 400 | 12 | 30  | Lots            | 5 | 4   |
| 305 | Vill-Nikloora  | Pulwama    | Rural | 50  | OBC             | DC  | 20 | 20 | 400 | 12 | 30  | Draw Of<br>Lots | 5 | 3   |
| 300 | v III-TVIINIOOI a  | Tuivvaina  | Nurai | 30  | OBC             | DO  | 20 | 20 | 400 | 12 | 30  | Draw Of         | J |     |
| 306 | Vill-Hunder  | Leh        | Rural | 40  | ST              | CFS | 20 | 20 | 400 | 0  | 0   | Lots            | 0 | 2   |
| 307 | VIII Nileaa  | Duharanaa  | Dural | 47  | Open CC         | DC  | 20 | 20 | 400 | 10 | 20  | Draw Of         | _ | _   |
| 307 | Vill-Nikas   | Pulwama    | Rural | 46  | 1               | DC  | 20 | 20 | 400 | 12 | 30  | Lots<br>Draw Of | 5 | 4   |
| 308 | Vill-Nangma Kawser   | Kargil     | Rural | 60  | OBC             | DC  | 20 | 20 | 400 | 12 | 30  | Lots            | 5 | 3   |

| 200 |   |          |       |    |              |     |    |    |     |    |    | Draw Of         |   |   |
|-----|---|----------|-------|----|--------------|-----|----|----|-----|----|----|-----------------|---|---|
| 309 | Vill-Muloo                                    | Shopian  | Rural | 50 | OBC          | DC  | 20 | 20 | 400 | 12 | 30 | Lots<br>Draw Of | 5 | 3 |
| 310 | Vill-Hef Shirmal                              | Shopian  | Rural | 50 | Open         | DC  | 20 | 20 | 400 | 12 | 30 | Lots            | 5 | 4 |
| 211 |   |          |       |    |              |     |    |    |     |    |    | Draw Of         |   |   |
| 311 | Vill-Shadimarg                                | Pulwama  | Rural | 60 | ST           | CFS | 20 | 20 | 400 | 0  | 0  | Lots<br>Draw Of | 0 | 2 |
| 312 | Vill-Wachohallan                              | Shopian  | Rural | 80 | Open         | DC  | 20 | 20 | 400 | 12 | 30 | Lots            | 5 | 4 |
| 313 | Vill-Sindoo Shirmal on Pulwama Shopian road   | Shopian  | Rural | 55 | Open         | DC  | 20 | 20 | 400 | 12 | 30 | Draw Of<br>Lots | 5 | 4 |
| 314 | Vill Chowgam (On Qazigund - Kulgam road)      | Kulgam   | Rural | 50 | ST           | CFS | 20 | 20 | 400 | 0  | 0  | Draw Of<br>Lots | 0 | 2 |
| 315 | Vill-Rahmoo                                   | Pulwama  | Rural | 60 | Open         | DC  | 20 | 20 | 400 | 12 | 30 | Draw Of<br>Lots | 5 | 4 |
| 316 | Vill-Nowpora (On Litter- Pulwama road)        | Pulwama  | Rural | 60 | OBC          | DC  | 20 | 20 | 400 | 12 | 30 | Draw Of<br>Lots | 5 | 3 |
| 317 | Vill- Ganeshpora                              | Anantnag | Rural | 60 | ST           | CFS | 20 | 20 | 400 | 0  | 0  | Draw Of<br>Lots | 0 | 2 |
| 318 | Vill-Siligam                                  | Anantnag | Rural | 60 | OBC          | DC  | 20 | 20 | 400 | 12 | 30 | Draw Of<br>Lots | 5 | 3 |
| 319 | Vill-Sadhow                                   | Shopian  | Rural | 60 | OPEN CC<br>2 | DC  | 20 | 20 | 400 | 12 | 30 | Draw Of<br>Lots | 5 | 4 |
| 320 | Vill-Vehil Chatawattan                        | Shopian  | Rural | 50 | Open         | DC  | 20 | 20 | 400 | 12 | 30 | Draw Of<br>Lots | 5 | 4 |
| 321 | Vill-Sirhama on Marhama Pahalgam road         | Anantnag | Rural | 50 | OBC CC 1     | DC  | 20 | 20 | 400 | 12 | 30 | Draw Of<br>Lots | 5 | 3 |
| 322 | Village-Tungday Kumi                          | Kargil   | Rural | 70 | ST           | CFS | 20 | 20 | 400 | 0  | 0  | Draw Of<br>Lots | 0 | 2 |
| 323 | Vill-Sangas (on Laroo Chawalgam byepass Road) | Kulgam   | Rural | 53 | Open         | DC  | 20 | 20 | 400 | 12 | 30 | Draw Of<br>Lots | 5 | 4 |
| 324 | Chedipora                                     | Shopian  | Rural | 50 | Open         | DC  | 20 | 20 | 400 | 12 | 30 | Draw Of<br>Lots | 5 | 4 |
| 325 | Bongund                                       | Anantnag | Rural | 60 | OBC          | DC  | 20 | 20 | 400 | 12 | 30 | Draw Of<br>Lots | 5 | 3 |
| 326 | Kamrazipora                                   | Pulwama  | Rural | 60 | Open CC<br>1 | DC  | 20 | 20 | 400 | 12 | 30 | Draw Of<br>Lots | 5 | 4 |
| 327 | Chinar  | Pulwama  | Rural | 60 | OBC          | DC  | 20 | 20 | 400 | 12 | 30 | Draw Of<br>Lots | 5 | 3 |
| 328 | Newa  | Pulwama  | Rural | 60 | ST           | CFS | 20 | 20 | 400 | 0  | 0  | Draw Of<br>Lots | 0 | 2 |
| 329 | Chawalgam (on Laru Chawalgam Bye Pass Road)   | Kulgam   | Rural | 50 | OBC          | DC  | 20 | 20 | 400 | 12 | 30 | Draw Of<br>Lots | 5 | 3 |

| 330 | Damhal Hanjipora  | Kulgam    | Rural | 80  | Open         | DC  | 20 | 20 | 400 | 12 | 30 | Draw Of<br>Lots | 5 | 4 |
|-----|---|-----------|-------|-----|--------------|-----|----|----|-----|----|----|-----------------|---|---|
| 331 | Turkwangam  | Shopian   | Rural | 60  | Open         | DC  | 20 | 20 | 400 | 12 | 30 | Draw Of<br>Lots | 5 | 4 |
|     |   |           |       |     | ·            |     |    |    |     |    |    | Draw Of         |   |   |
| 332 | Nowgam  | Anantnag  | Rural | 60  | OBC          | DC  | 20 | 20 | 400 | 12 | 30 | Lots            | 5 | 3 |
| 333 | Wuyan   | Pulwama   | Rural | 60  | OBC          | DC  | 20 | 20 | 400 | 12 | 30 | Draw Of<br>Lots | 5 | 3 |
| 334 | Viddy Serigufwara   | Anantnag  | Rural | 60  | Open         | DC  | 20 | 20 | 400 | 12 | 30 | Draw Of<br>Lots | 5 | 4 |
| 335 | Chitragam Kalan   | Shopian   | Rural | 60  | SC           | CFS | 20 | 20 | 400 | 0  | 0  | Draw Of<br>Lots | 0 | 2 |
| 336 | Shirpora  | Kulgam    | Rural | 60  | OBC          | DC  | 20 | 20 | 400 | 12 | 30 | Draw Of<br>Lots | 5 | 3 |
| 337 | Trahboo   | Anantnag  | Rural | 60  | Open         | DC  | 20 | 20 | 400 | 12 | 30 | Draw Of<br>Lots | 5 | 4 |
| 338 |   | <u>J</u>  |       |     | '            |     |    |    |     |    |    | Draw Of         |   |   |
| 336 | Vill Pangal on Katra Reasi road   | Reasi     | Rural | 90  | Open         | DC  | 20 | 20 | 400 | 12 | 30 | Lots<br>Draw Of | 5 | 4 |
| 339 | Vill Dradhu on Doda Bhaderwah Road  | Doda      | Rural | 90  | OBC          | DC  | 20 | 20 | 400 | 12 | 30 | Lots            | 5 | 3 |
| 340 | Vill Manwal   | Jammu     | Rural | 90  | Open         | DC  | 20 | 20 | 400 | 12 | 30 | Draw Of<br>Lots | 5 | 4 |
| 341 | Vill Kundal   | Kishtwar  | Rural | 90  | OPEN CC<br>2 | DC  | 20 | 20 | 400 | 12 | 30 | Draw Of<br>Lots | 5 | 4 |
| 342 | Vill Jangalwar( from Ganpat Bridge to Puldoda<br>Road)                                  | Doda      | Rural | 90  | Open         | DC  | 20 | 20 | 400 | 12 | 30 | Draw Of<br>Lots | 5 | 4 |
| 343 | Vill Gulabgarh  | Reasi     | Rural | 90  | OBC          | DC  | 20 | 20 | 400 | 12 | 30 | Draw Of<br>Lots | 5 | 3 |
| 344 | Vill Doru-Sebdan on Bemina Budgam Road  | Budgam    | Rural | 100 | Open         | DC  | 20 | 20 | 400 | 12 | 30 | Draw Of<br>Lots | 5 | 4 |
| 345 | Vill Dawar  | Bandipora | Rural | 100 | ST           | CFS | 20 | 20 | 400 | 0  | 0  | Draw Of<br>Lots | 0 | 2 |
| 346 |   | Baramulla |       | 100 |              | DC  | 20 | 20 | 400 | 12 | 30 | Draw Of<br>Lots | 5 | 4 |
|     | Vill Bohripora on Sopore Kupwara Road Vill Brar within 1 km of tangwani Steel bridge on | Baramuna  | Rural | 100 | Open         |     | 20 |    |     |    | 30 | Draw Of         | 5 | 4 |
| 347 | Srinagar bandipora Road   | Bandipora | Rural | 100 | Open         | DC  | 20 | 20 | 400 | 12 | 30 | Lots            | 5 | 4 |
| 348 | Vill Khalisa Kawoosa, on Narbal Tangmarg Road   | Budgam    | Rural | 100 | Open         | DC  | 20 | 20 | 400 | 12 | 30 | Draw Of<br>Lots | 5 | 4 |
| 349 | Vill Ari-Bagh on Nowgam Chattergam Pulwama<br>Road                                      | Budgam    | Rural | 100 | Open         | DC  | 20 | 20 | 400 | 12 | 30 | Draw Of<br>Lots | 5 | 4 |
| 350 | vill Wanibal on Nowgam Chattergam Pulwama<br>Road                                       | Budgam    | Rural | 100 | Open CC<br>1 | DC  | 20 | 20 | 400 | 12 | 30 | Draw Of<br>Lots | 5 | 4 |

|     |  |           |       |     |        |     |    |    |     | ,  | -  | -               |   |   |
|-----|--|-----------|-------|-----|--------|-----|----|----|-----|----|----|-----------------|---|---|
| 351 | Vill Zeeran, on tangmarg Kreeri Road                     | Baramulla | Rural | 84  | Open   | DC  | 20 | 20 | 400 | 12 | 30 | Draw Of<br>Lots | 5 | 4 |
| 352 | Vill Dangerpora on Nowgam Chattergam<br>Pulwama Road     | Budgam    | Rural | 100 | SC     | CFS | 20 | 20 | 400 | 0  | 0  | Draw Of<br>Lots | 0 | 2 |
| 353 | Vill Brail   | Budgam    | Rural | 84  | Open   | DC  | 20 | 20 | 400 | 12 | 30 | Draw Of<br>Lots | 5 | 4 |
| 354 |  | Ü         |       |     |        |     |    |    |     |    |    | Draw Of         |   |   |
|     | Vill Malwari on Pulwama Nowgam Srinagar Road             | Pulwama   | Rural | 100 | ST     | CFS | 20 | 20 | 400 | 0  | 0  | Lots<br>Draw Of | 0 | 2 |
| 355 | Vill Pingalgam   | Pulwama   | Rural | 100 | ST     | CFS | 20 | 20 | 400 | 0  | 0  | Lots            | 0 | 2 |
| 356 | Vill Zainpora on Bijbehara Shopian Road                  | Shopian   | Rural | 100 | Open   | DC  | 20 | 20 | 400 | 12 | 30 | Draw Of<br>Lots | 5 | 4 |
| 357 | Vill Paibug on Khannabal Pahalgam Road                   | Anantnag  | Rural | 100 | Open   | DC  | 20 | 20 | 400 | 12 | 30 | Draw Of<br>Lots | 5 | 4 |
| 358 | Vill Srandoo   | Kulgam    | Rural | 100 | OBC    | DC  | 20 | 20 | 400 | 12 | 30 | Draw Of<br>Lots | 5 | 3 |
| 359 | Vill Drussu on Circular Road Pulwama                     | Pulwama   | Rural | 100 | SC     | CFS | 20 | 20 | 400 | 0  | 0  | Draw Of<br>Lots | 0 | 2 |
| 337 | VIII DI USSU OII CII Culai Road I diwama                 | Tulwalla  | Kurai | 100 | 30     | 013 | 20 | 20 | 400 | 0  | 0  | Draw Of         | U |   |
| 360 | Vill Akad on Khannabal pahalgam Road                     | Anantnag  | Rural | 100 | OBC    | DC  | 20 | 20 | 400 | 12 | 30 | Lots            | 5 | 3 |
| 361 | Vill Zablipora between Fruit mandi and Railway<br>Bridge | Anantnag  | Rural | 100 | Open   | DC  | 20 | 20 | 400 | 12 | 30 | Draw Of<br>Lots | 5 | 4 |
| 362 | Vill Tangste   | Leh       | Rural | 100 | ST     | CFS | 20 | 20 | 400 | 0  | 0  | Draw Of<br>Lots | 0 | 2 |
|     | Ţ  |           |       |     |        |     |    |    | ,   |    |    | Draw Of         |   |   |
| 363 | Vill Taisuru   | Kargil    | Rural | 100 | ST     | CFS | 20 | 20 | 400 | 0  | 0  | Lots            | 0 | 2 |
| 364 | Vill Pushkridi on Langanbal Pahalgam Road                | Anantnag  | Rural | 100 | Open   | DC  | 20 | 20 | 400 | 12 | 30 | Draw Of<br>Lots | 5 | 4 |
| 365 | Vill Frisal(OML)   | Kulgam    | Rural | 100 | Open   | DC  | 20 | 20 | 400 | 12 | 30 | Draw Of<br>Lots | 5 | 4 |
| 366 | Vill Litter  | Pulwama   | Rural | 100 | Open   | DC  | 20 | 20 | 400 | 12 | 30 | Draw Of<br>Lots | 5 | 4 |
| 367 | Vill Lalgam  | Pulwama   | Rural | 100 | Open   | DC  | 20 | 20 | 400 | 12 | 30 | Draw Of<br>Lots | 5 | 4 |
|     | VIII Laigaili  | Tulwalla  | Kurai | 100 | Орсп   | DC  | 20 | 20 | 400 | 12 | 30 | Draw Of         | 3 | 7 |
| 368 | Vill Sehora on Mehmoodpur to Kunjwani Road               | Jammu     | Rural | 110 | Open   | DC  | 20 | 20 | 400 | 12 | 30 | Lots            | 5 | 4 |
| 369 | Vill Balli Bawan on kalakote Rajouri Road                | Rajouri   | Rural | 100 | OBC PH | DC  | 20 | 20 | 400 | 12 | 30 | Draw Of<br>Lots | 5 | 3 |
| 370 | Village Fatehpur Gurian                                  | Rajouri   | Rural | 100 | Open   | DC  | 20 | 20 | 400 | 12 | 30 | Draw Of<br>Lots | 5 | 4 |
| 371 | Vill Mokhey on RS Pura - Chakroi Road                    | Jammu     | Rural | 100 | Open   | DC  | 20 | 20 | 400 | 12 | 30 | Draw Of<br>Lots | 5 | 4 |

| 070  | Vill Pragwal on road from Malpur Sua No. 1 to  |         |       |     |         |     |    |    |     |    |    | Draw Of |   |   |
|------|--|---------|-------|-----|---------|-----|----|----|-----|----|----|---------|---|---|
| 372  | Pragwal  | Jammu   | Rural | 100 | Open    | DC  | 20 | 20 | 400 | 12 | 30 | Lots    | 5 | 4 |
| 070  |  |         |       |     |         |     |    |    |     |    |    | Draw Of |   |   |
| 373  | Vill Bhajwal on Sunderbani-Nowshera            | Rajouri | Rural | 100 | Open    | DC  | 20 | 20 | 400 | 12 | 30 | Lots    | 5 | 4 |
| 074  |  |         |       |     |         |     |    |    |     |    |    | Draw Of |   |   |
| 374  | Vill Maira Muthhi on Jourian - Akhnoor Road    | JAMMU   | Rural | 100 | Open    | DC  | 20 | 20 | 400 | 12 | 30 | Lots    | 5 | 4 |
| 0.75 |  |         |       |     |         |     |    |    |     |    |    | Draw Of |   |   |
| 375  | Vill Kaleeth on pallanwala - Jourian Road      | JAMMU   | Rural | 100 | Open    | DC  | 20 | 20 | 400 | 12 | 30 | Lots    | 5 | 4 |
| 07.  |  |         |       |     |         |     |    |    |     |    |    | Draw Of |   |   |
| 376  | Vill Thikrian on Satwari to RS Pura Rd.        | Jammu   | Rural | 100 | SC      | CFS | 20 | 20 | 400 | 0  | 0  | Lots    | 0 | 2 |
|      |  |         |       |     |         |     |    |    |     |    |    | Draw Of |   |   |
| 377  | Vill Narrian Segrawat on Rajouri - Darhal Road | Rajouri | Rural | 100 | ST      | CFS | 20 | 20 | 400 | 0  | 0  | Lots    | 0 | 2 |
|      |  |         |       |     |         |     |    |    |     |    |    | Draw Of |   |   |
| 378  | Vill Mandi on Chandak - Buda Amarnath Road     | POONCH  | Rural | 100 | ST      | CFS | 20 | 20 | 400 | 0  | 0  | Lots    | 0 | 2 |
|      |  |         |       |     |         |     |    |    |     |    |    | Draw Of |   |   |
| 379  | Vill Budhal                                    | Rajouri | Rural | 100 | Open    | DC  | 20 | 20 | 400 | 12 | 30 | Lots    | 5 | 4 |
|      |  |         |       |     |         |     |    |    |     |    |    | Draw Of |   |   |
| 380  | Vill Mawakarora on Akhnoor - Sohal Road        | JAMMU   | Rural | 100 | Open    | DC  | 20 | 20 | 400 | 12 | 30 | Lots    | 5 | 4 |
|      |  |         |       |     |         |     |    |    |     |    |    | Draw Of |   |   |
| 381  | Vill Chak Chataka-along Nandpur-Vijaypur Road  | Samba   | Rural | 100 | Open    | DC  | 20 | 20 | 400 | 12 | 30 | Lots    | 5 | 4 |
|      |  |         |       |     |         |     |    |    |     |    |    | Draw Of |   |   |
| 382  | Vill Rakh Rajpura along Parmandal Road         | Samba   | Rural | 100 | Open    | DC  | 20 | 20 | 400 | 12 | 30 | Lots    | 5 | 4 |
|      | Vill Muthi Hardo( along road connecting NH44   |         |       |     |         |     |    |    |     |    |    | Draw Of |   |   |
| 383  | and DPS rajbagh)                               | Kathua  | Rural | 100 | Open    | DC  | 20 | 20 | 400 | 12 | 30 | Lots    | 5 | 4 |
|      |  |         |       |     |         |     |    |    |     |    |    | Draw Of |   |   |
| 384  | Vill Birpur                                    | Samba   | Rural | 100 | Open    | DC  | 20 | 20 | 400 | 12 | 30 | Lots    | 5 | 4 |
|      |  |         |       |     |         |     |    |    |     |    |    | Draw Of |   |   |
| 385  | Vill karnah                                    | Kupwara | Rural | 75  | ST CC 1 | CFS | 20 | 20 | 400 | 0  | 0  | Lots    | 0 | 2 |

<sup>#</sup> Volumes indicated are based on market conditions and may undergo change. Applicants are advised to make their own assessment of potential.

The explanation of the columns in the table is given in the Brochure which also contains detailed guidelines of selection procedure for dealership along with Application form and other relevant details. The Brochure is available at a cost of Rs. 100/- from the Corporation Offices at the addresses mentioned below. It is also hosted in the Corporation Website (<a href="www.petrolpumpdealerchayan.in">www.petrolpumpdealerchayan.in</a>) and can be downloaded free of cost.

<sup>\*</sup> The site should either be Owned or on lease with applicant for minimum 19 years 11 months or Applicant should have firm offer for the same.